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Rav Ashi said, really they are like earthenware

Overview

"WR 11 disagrees with the previous answer that n°137 °%2 are 1231 Ravn because they
are (also) like m>nn °22 (they can be repaired); rather *wX 27 maintains that n°2127 °22
are like 0711 °%5 (only), and there is another reason why they are 723 Rnavon.
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Here in our X3 we find that swx 39 disagrees with the reasoning that since if the

n°101 °95 break they can be repaired, therefore the 73127 equated them, etc. to *2>

m>nn; he does not agree to this idea regarding 23 nRMY -
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However regarding the need for n°>137 °%5 to have 77%°2% when they are bought

new from a "2, in that case SR 21 clearly agrees to this reasoning (of 131 »x17) -
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In the last P2 of "'y noon.

Summary
The logic of 73pn 0a% w° 17aw1 °21 2°R)1 can sometimes be used to compare nN°2127 °92

to Monn °72, but not other times.

Thinking it over
Why indeed is the logic of 121 172w1 21 2°Ryi7 applicable to require 79°20 by 03131 953
D°Ww7m, but it is not applicable (according to WX 27) for 2131 %92 to be 123 XY 2!

I'See w"x"1 mooIn.
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